A company produces two versions of treadmills: a standard and a deluxe.  The deluxe is wider and sturdier and offers monitoring of heart rate, etc.  This is the data for the beginning of the year:






Standard Model

Deluxe Model

Expected quantity


20,000



10,000

Selling price



$280.00


$575.00

Prime Costs



$150.00


$350.00

Machine hours



25,000



25,000

Direct labor hours


50,000



50,000

Engineering support (hours)

7,500



22,500

Receiving (orders processed)

1,250



2,500

Material handling (# of moves)
10,000



20,000

Purchasing (# of requisitions)

500



1,000

Maintenance (hours used)

5,000



15,000

Paying Suppliers (invoices proc.)
1,250.00


2500.00


Settling up batches (# of setups)
100



300


Additionally, the following overhead costs are reported (by process):

Technical Support
Maintenance $420,000
Engineering $600,000

Batch Support

Material Handling $600,000
Setups $480,000

Procurement

Purchasing $333,000   Receiving $200,000  Paying Suppl. $150000

Process Sustaining
Providing space $100,000


Facility level costs are allocated in proportion to machine hours (provided a measurement of time facility is used by each product).

Questions to answer:

#1.  What is the cost per unit for each product using direct labor hours to assign all overhead costs?

#2.  Form homogenous cost pools, and calculate pool rates.  Explain why you would group activities in the pools that are formed.

#3.  Using the pool rates computed in Question #2; calculate the cost per unit for each product.  Compare these costs with those calculated using the functional based method.  Which cost is the most accurate?

